
नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

िभ ों का घटाव (िमि त अंश)

3 − 1 =
2
1

4
3

2 − 1 =
2
1

3
2

− =
8
4

8
2

− =
3
2

4
2

− =
3
1

6
1

1 − =
5
2

4
3

− =
4
2

6
1

1 − =
4
2

5
3

3 − =
2
1

7
1

− =
7
3

9
3

1 − =
4
3

9
2

− =
7
4

9
4

1 − =
5
2

7
2

1 − =
2
1

6
3

2 − =
2
1

8
7

3 − =
2
1

8
1

1 − =
6
1

9
3

− =
8
5

6
2

− =
4
2

9
4

1 − =
5
2

4
3

www.snowmath.com

https://www.snowmath.com


नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

िभ ों का घटाव (िमि त अंश)

3 − 1 = = 1
2
1

4
3

4
7

4
3

2 − 1 =
2
1

3
2

6
5

− =
8
4

8
2

4
1

− =
3
2

4
2

6
1

− =
3
1

6
1

6
1

1 − =
5
2

4
3

20
13

− =
4
2

6
1

3
1

1 − =
4
2

5
3

10
9

3 − = = 3
2
1

7
1

14
47

14
5

− =
7
3

9
3

21
2

1 − = = 1
4
3

9
2

36
55

36
19

− =
7
4

9
4

63
8

1 − = = 1
5
2

7
2

35
39

35
4

1 − = 1
2
1

6
3

2 − = = 1
2
1

8
7

8
13

8
5

3 − = = 3
2
1

8
1

8
27

8
3

1 − =
6
1

9
3

6
5

− =
8
5

6
2

24
7

− =
4
2

9
4

18
1

1 − =
5
2

4
3

20
13

www.snowmath.com

https://www.snowmath.com

